4

THIS DRAWING 1S UNPUBLISHED.

RELEASED FOR PUBLICATION

20

(C) COPYRIGHT 20 BY -

ALL RIGHTS RESERVED.

REVISTONS

PANEL CUT FOR
WITHOUT HOODS/ HOUSINGS
RRE PR 4R EF IR

INSERTS FOR USING

43 .5

10X M3 SCREW, RECOMMENDED
TIGHTENING TORQUE O.5N.m
10X M3 84, ##8%4%0. 5N . m

DESCRIPTION

DATE

DWN APVD

B INITIAL RELEASE

12DEC2017 YC

cw

k—

—ﬂ

~

"/

o
o

) )

M4 B #FHEAE] . 2N.m

M4 SCREW RECOMMENDED
TIGHTENING TORQUE [ .2N.m

%@r otes
|

TECHNICAL CHARACTERISTICS:
INSULATION MATERIAL: PC

RATED VOLTAGE:
RATED CURRENT:

INSULATION RESTSTANCE:

RATED [IMPULSE

250V
|6 A

POLLUTION DEGREE: 3

FLAMMABILITY:
MATING CYCLES:
WIRE RANGE: O.

CONTACT FINISH:

CONTACT TYPE:

>=400M()
VOLTAGE: 4KV
UuL94v-o0
200 CYCLES
5-2.5 mm2 (20-14 AWG)

SILVER PLATED
SCREW CONTACT

L | |
s D'v”v”v'k%ﬂ
o = B@/\®/\$/\®/\d
. U1 =m |]L
i&©.%4§3
! |
| STAINLESS STEEL SCREW
- 56.5 _
i
v

\J
| \
4X M3 SCREW,RECOMMENDED

AR 22

in BB

KASY -

itk PC

Hrek: 250V
Hrwd | 6A
wuwmE - >=400MO)
FrhoswE: 4KV
FrEg . 3

msEg: UL94V-0
wha%: 500 %
#4588 0.5-2.5 mm2 (20-14 AWG)
BIEEAE - R
BUAK - BudE

— 4 B33 TIGHTENING TORQUE 0.5N.m
4 M3##z #E8%4%50 5N . m HA-010 FEMALE [INSERT,STAINLESS
| 12010102201-002 HA-010-F [STEEL GROUNDING SCREW
| | HA-010 %6 Faeags
M | PART NUMBER PART DESCRIPTION
Sl ! [N H £ # i
| THIS DRAWING IS A CONTROLLED DOCUMENT. [OWN 12DEC20TT
S ) — - —_ - — - — - — S % CHYKORK CHENWEDECEOW? -—TE TE CON\@CMVHy
‘ DIMENSIONS: TOLERANCES UNLESS AP%DINO YAO NAVE
‘ o OTHERWISE SPECIFIED: NINE WAN%EDECEOH HA-010-F
@ ‘ @ 0 PLC 1 PRODUCT SPEC
| Lo il 108-137045
| Y @ E 2 PLC -
‘ ;NEL\[EES i’ APPLWI?ALI?N,‘ ;P;C045 SI1ZE CAGE CODE | DRAWING NO RESTRICTED TO
49 HATERTAL s VETGHT : A3l - [C=T2010102201002 -
- - CUSTOMER DRAWING e ) e L T L

1470-19 (3/13)




